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QUESTION 1

An administrator is updating disk firmware using LCM and receives the following message:
"There have been 10 or more cluster services restarts within 15 minutes in the Controller VM."
The message appears as each drive is upgraded.

What is the reason this message is being generated?

A. A node has been rebalanced

B. A drive has been reformatted

C. A node has been rebooted

D. A drive has been rejected

Correct Answer: C

Reference: https://portal.nutanix.com/page/documents/kbs/details?targetld=kA032000000TT8DCAW

QUESTION 2

An administrator receives an error indicating that the CVMs in the cluster are not syncing to any NTP servers. An
investigation of the issue finds: The NTP servers are configured in Prism The time on all CVMs is the same Both the
CVMs and AHV hosts are configured for the UTC time zone

Which two steps can be taken to troubleshoot this issue? (Choose two.)

A. Confirm that the NTP servers are reachable from the CVMs.

B. Restart genesis on all CVMs.

C. On a CVM. run the command a Hash ntpq -pn.

D. Restart the chronos service on all CVMs.

Correct Answer: AC

QUESTION 3

Refer to the exhibit.
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What is the purpose of eth2 on the CVMs?

A. RDMA Network Segmentation

B. iSCSI connectivity

C. Remote site connectivity

D. Network Segmentation

Correct Answer: D

QUESTION 4

HOTSPOT

A system administrator needs to shut down an AHV node in a Nutanix cluster without causing service disruption. The
administrator checks data resiliency and verifies that the cluster can tolerate a node down.

Which steps should the administrator perform next?

Hot Area:
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Answer Area

Procedure Step

Put the host in maintenance mode | v

Step 1
'Step 2
Step 3
Invalid Step

Shut down the CVM v

Step 1
Step 2
Step3
Invalid Step

Shut down the node | v

Step 1
Step 2
Step 3
 Invalid Step

Correct Answer:
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Answer Area

Procedure Step

Put the host in maintenance mode v
Step 1

Step 2

Step 3

Invalid Step

Shut down the CVM v
Step 1

Step 2

Step 3

Invalid Step

Shut down the node S, 4
Step 1

Step 2

Step 3

Invalid Step

QUESTION 5

An administrator learns that some security settings in a cluster have been changed. The environment is out of
compliance with required policies.

Which function should be used to revert any settings that have changed from the defaults and prevent further
violations?

A. Cluster Lockdown with strong password enforcement

B. Advanced Intrusion Detection Environment (AIDE)

C. Security Configuration Management Automation (SCMA)
D. Defense Information Systems Agency STIG enforcement
Correct Answer: C

Reference: https://portal.nutanix.com/page/documents/details?targetld=Nutanix-Security-Guide-v5_17:secsecurity-scma-
implementation-wc-c.html
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